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English Section 
 
In the following passage, some of the words are given in bold, each of which is 
preceded by a blank. Find the suitable word from the options given below that could 
replace the bold word so as to make the paragraph meaningful. If no replacement is 
required, choose (E), as your answer. 

As per data compiled by the National Crime Records Bureau (NCRB) in the report Crime in 
India 2020, about 5% of the cases under Section 498A were found to be false. About 9.4% 
were either non-cognizable or civil in nature or with insufficient evidence in the end. 
Similarly, about 12% of the cases under the SCs and STs (Prevention of Atrocities) Act 
were found to be false by the police, and about 7% were either non-cognizable or civil in 
nature or with ______ (Deficient) (A) evidence in the end. 

Further, out of the 17,765 cases under Section 498A decided by the courts, 3,425 cases 
ended with a conviction. Out of the 8,138 cases under the SCs and STs (Prevention of 
Atrocities) Act decided by the courts, 3,588 cases ended with a _______ (Persuasion) 
(B). Although there are varied reasons for _______ (Clearing) (C), including a delay in 
lodging the FIR, witnesses turning hostile, compromise between the parties, lack of proper 
presentation by the prosecution and an appreciation of the evidence by the court, etc., the 
problem arises when a court concludes that a case is false. 

Since the _______ (Albatross) (D) of arriving at the truthfulness of a case lies primarily 
with the investigating officer, it is their duty to investigate the case thoroughly and collect 
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all the facts and circumstances fearlessly. This would ensure that false cases are closed in 
time and no innocent individuals have to suffer the _______ (Rigours) (E) of the law 

1) Which of the following options will replace the word A? 

A.Copious 

B.Insufficient 

C.Abundant 

D.Sufficient 

E.No replacement required 

2) Which of the following options will replace the word B? 

A.Tenet 

B.Dogma 

C.Misgiving 

D.Conviction 

E.No replacement required 

3) Which of the following options will replace the word C? 

A.Incrimination 

B.Impeachment 
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C.Acquittal 

D.Accusation 

E.No correction required 

4) Which of the following options will replace the word D? 

A.Onus 

B.Blame 

C.Stigma 

D.Shame 

E.No correction required 

5) Which of the following options will replace the word E? 

A.Rigorous 

B.Strict 

C.Severe 

D.Stern 

E.No replacement required 
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Answer : 

1) Answer: B 

 “Deficient” is grammatically wrong here. 
 Options (A), (C) and (D) talk opposite to the context of the sentence. 
 “Copious” means large in quantity or number 
 “Abundant” means existing or available in large quantities; plentiful 
 Option (B) is both grammatically and contextually fill the blank. 

2) Answer: D 

 'Persuasion' is contextually wrong. It means the action or process of persuading 
someone or of being persuaded to have a believe in something 

 Options (A) (B) and (C) all do not fit to the context of the sentence. 
 'Tenet' means a principle or belief 
 'Dogma' means a principle or set of principles laid down by an authority as 

incontrovertibly true. 
 'Misgiving' means a feeling of doubt or apprehension about the outcome or 

consequences of something 
 'Conviction' means a formal declaration by the verdict of a jury or the decision of a 

judge in a court of law that someone is guilty of a criminal offence. 

3) Answer: C 

 'Clearing' does not support the context of the sentence. 
 Option (A), (B) and (D) talks opposite to the context of the sentence. 
 'Incrimination' means to be charged with the involvement in a crime where he/ she 

was incriminated in the conspiracy. 
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 'Impeachment' means the action of calling into question the integrity or validity of 
something. 

 'Accusation ' means a charge or claim of something that has done something illegal 
or wrong. 

 Option (C) 'Acquittal' supports the context of the sentence. 
 'Acquittal' means a judgment or verdict that a person is not guilty of the crime with 

which they have been charged. 

4) Answer: A 

 Albatross' is out of context. Albatross is a very large, chiefly white oceanic bird with 
long narrow wings. Found mainly in the southern oceans. 

 Options (B), (C) and (D) do not support the context of the sentence 
 'Stigma' means a mark of disgrace associated with a particular circumstance, quality 

or person. 
 Option (A) 'Onus' contextually and grammatically fit the blank. 'Onus' means 

something that is one's duty or responsibility. 

5) Answer: E 

 'Rigorous' means harsh and demanding conditions; Hardship 
 All other options do support the context of the sentence but are grammatically 

incorrect. We need nouns to fill the blank but in options all are adjectives. 
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Reasoning Section 
 
Read the following information carefully and answer the questions given below. 

4 % E 2 0 N 3 # Z ! @ $ T G W 8 1 + A B 7 9 6 1 R H U X ^ I 5 

1) Which of the following element is exactly between “Z” and “A” in the given series? 

A.G 

B.W 

C.T 

D.$ 

E.None 

2) How many such numbers are there in the series which are immediately followed 
by symbols in the given series? 

A.None 

B.1 

C.2 

D.3 

E.More than three 

https://testseries.dreambiginstitution.com/
https://testseries.dreambiginstitution.com/
https://bit.ly/36yHHhH
https://t.me/DreamBigInstitution
https://testseries.dreambiginstitution.com/tests/556/ibps-po#unlockTest


        

 
SUPER Quality Mock Test & Quizzes At : Testseries.DreamBigInstitution.com 

 

 

 
 

Page 8    SUPER Quality Mock Test & Quizzes At : Testseries.DreamBigInstitution.com 

3) Which of the following element is sixth to the left of the eighteenth element from 
the right end in the given series? 

A.T 

B.% 

C.! 

D.# 

E.Z 

4) If all the symbols and the numbers are dropped in the given series, then which of 
the following element is eighth from the right end? 

A.B 

B.G 

C.A 

D.W 

E.T 

5) What is the sum of the numbers given in the series? 

A.38 

B.46 
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C.40 

D.42 

E.None of these 

Answers : 

1) Answer: A 

4 % E 2 0 N 3 # Z ! @ $ T G W 8 1 + A B 7 9 6 1 R H U X ^ I 5 

2) Answer: D 

4 % E 2 0 N 3 # Z ! @ $ T G W 8 1 + A B 7 9 6 1 R H U X ^ I 5 

3) Answer: D 

4 % E 2 0 N 3 # Z ! @ $ T G W 8 1 + A B 7 9 6 1 R H U X ^ I 5 

4) Answer: D 

E N Z T G W A B R H U X I 

5) Answer: B 

4+2+3+8+1+7+9+6+1+5=46 
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Quantitative Aptitude Section 
 
1) Ratio of the marked price of the keyboard and mouse is 14:15. The shopkeeper 
allows a discount of Rs.400 on the marked price of the keyboard and the discount 
on the mouse is Rs.100 more than the discount offered on the keyboard. Find the 
difference between the selling price of the keyboard and mouse? 

A.Rs.800 

B.Rs.1000 

C.Rs.1200 

D.Rs.900 

E.Cannot be determined 

2) The ratio of the ages of Shilpa and Smitha 9 years ago is 8:9. After 3 years the 
average of the ages of Shilpa, Smitha and Kanna is 29 years. If the present age of 
Smitha is four times of the present age of Kanna, then find the present age of Shilpa? 

A.30 years 

B.33 years 

C.36 years 

D.39 years 

E.27 years 
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3) Ajith alone completes the work in 45 days and the ratio of the efficiency of Ajith 
and Vijay is 4:3. If Ajith, Vijay and Surya together can complete the work in 20 days 
and they are gets the total wages is Rs.36000, then what is the wages of Surya? 

A.Rs.6000 

B.Rs.7500 

C.Rs.9000 

D.Rs.8000 

E.Rs.9600 

4) The ratio of the radius of the cylinder to the cone is 2:1 and the height of the cone 
is 15 cm. If the volume of the cone and cylinder is 770 cm3 and 7392 
cm3 respectively, then find the height of the cylinder?  

A.12 cm 

B.15 cm 

C.10 cm 

D.9 cm 

E.None of these 

5) The average cost of all products in a showroom is Rs.120. Now 14 products 
among them have an average cost of Rs.220 and the average of the remaining 
products is Rs.100.Find the total number of products in the showroom? 
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A.86 

B.84 

C.88 

D.82 

E.90 

Answers : 

1) Answer: E 

MP of keyboard = 14x 

MP of mouse = 15x 

SP of keyboard = 14x – 400 

SP of mouse = 15x – 500 

2) Answer: B 

Shilpa + Smitha + Kanna = 29 * 3 – 9 = 78 years 

Kanna = x 

Smitha =4x 

Shilpa = 8/9 * (4x – 9) + 9 
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x + 4x + 8/9 * (4x – 9) + 9 = 78 

77x = 693 

x = 9 

Present age of Shilpa = 8/9 * (4 * 9 – 9) + 9 = 33 years 

3) Answer: D 

Ajith = 1/45 

Vijay alone complete the work = 4/3 * 45 = 60 

Surya alone complete the work = 1/20 – 1/45 – 1/60 

= 9 – 4 – 3/180 

= 1/90 

Work done by Ajith, Vijay and Surya = 1/45:1/60:1/90 

= 4:3:2 

Required wages = 2/9 * 36000 = 8000 

4) Answer: A 

770 = 1/3 * 22/7 * x * x * 15 

x = 7 
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Radius of the cylinder = 7 * 2 = 14 cm 

7392 = 22/7 * 14 * 14 * h 

Height of the cylinder = 12 cm 

5) Answer: B 

Let the total number of products in the showroom = x. 

Now, 

14*220 + 100(x-14) = 120x 

3080 + 100x -1400 =120x 

20x = 1680 

x = 84 

 
 

All the Best for Your Exams!!! 

Suggestions & Feedback are welcomed 

DreamBigInstitution@gmail.com 

 
 

https://testseries.dreambiginstitution.com/
https://testseries.dreambiginstitution.com/
https://bit.ly/36yHHhH
https://t.me/DreamBigInstitution
https://testseries.dreambiginstitution.com/tests/556/ibps-po#unlockTest
mailto:DreamBigInstitution@gmail.com

